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1) There are four players in this drama — Snm 785, 2p3 125, How many possible answers can there be to the question
“who knew that apyrwas expected a dﬁerent bride on his wedding night? (was this even deception? We'll discuss)
2)  For purposes of our chart: A —735; B—apy; C— .'INB; D-5mm
3)  Thereare 4" =16 possibilities: none, ABCD, A, B, C, D, ABC, ABD, ACD, BCD, AB, AC, AD, BC, BD, CD.
4)  We can contextually exclude B from all options, and must perforce leave A in. So we are left with: A, ACD, AC, AD. In
other words, either both Rachel and Leah knew, either one of them knew or neither of them knew. Which of these is

most supported by the textual evidence?
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